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{ Example 1 )

‘Write down the first four terms of each of the following sequences:

() T,=n>+n (ii) 7, =2" — 3n

(i) Tu=n*+n

T =ay+0) =2
=0+ =L
Te= 3Y %2 = (2
Te = (W)*+ ¢ =20

@|Ta=2"-3n

T|"j-"’3(\)""l
T1. = 2‘/3(1«) '/—'2_
1:3 = 23/3(‘5) = -]
Ty = 1*-—'5(‘?)6 Us




Sequence and Series Lesson 1 March 04, 2013

(Example 2 )

The following rectangular patterns are made from two sets of coloured tiles.

(i) Draw the next two patterns of tiles.,”
(ii) Write a number sequence for the blue tiles used in each of these patterns™
(iii) Write a nu&ber sequence for the total number of tiles used in each of these
patterns.
(iv) Write a number sequence for the white tiles used in each of these patterns™”
(v) Write out the next 3 terms in each sequence found in (ii), (iii), (iv).

(0

O |Bue: 0,2,b,12 20,30 k2 56
(D (| Mitls: b, 12, 20,30 42 56,7290
@ | Whitefils : b o 14,1%,22, Zc, 8o By

Exercise 4.1

1. Write down the next three terms of each of the following sequences:

aithmetic  +b  AG) |6, 12, 18, 24, ... 30,36 4L
(i) |7 12, 17 22, ...
(iii) | 4.7, 5.9, 71, 8.3, ...

= fiv)|2, —1, —4, —7, ... =0, 13 - b
2, 3,6, 11, 18, 27 ...

arithmetic

arithmetic -8 (vi)[78, 70, 62, 54, ... 46, 3%, 30
(vii) |10, 5, 0, —5, —10, ...
(viii) | —64, —55, —46, —37 ...
(ix) |2, 6, 18, ...
quadratic -rq;g-g,-m(’f)’ 2, 6, 12, 20,... % 42 ,SL
arithmetic -k (xi)]2, %, —
(xii) |1, 2, 4, 7 11, ...

3 1.4 _g

4 4 "/q h v -

1 ¢
et +y5p, D0, 3. 8,15, 24, 55,48, 03

3

1

2

-\

geometric  xm (XiV)V N _6, 12, _243 e ‘l-g, ‘1b, l1)—

1 1 1
(XV) 6 12° 207"
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2. Find the first four terms of the following sequences, given the nth term (7)) in each case.

() T,=4n — 2 (iv) 7T,,= (n + 3)(n + 1) (vii) 7, =27
(i) 7, = (n + 1)? V) T,=n"—1 (viii) 7, = (—3)"
(iii) 7, =n®> — 2n i) T,= "5 (ix) T,=n2"
@ G Th=tu-2 W T, = (n-l— 1y
T= %)-2 =2 T"(|+|)‘=‘+
= %2 =¢ To = (2+1)" =9
Tr=U6)yr =0 T = (2+) = b
Te= 4(¥)2 = Il{‘«/ Te = (y4))*= 25
G || Ta= n*-2n @ Tw=n+3)n+)
To=ay-2t) = - T, = G42)axn) =¢
Ta = @y 2(2) %o T “(z)(z+1)= 15
= eY-2(0= ¢ R =) an) = 2y
Te = (W2(4) = 3 / Te <(443)4 +1)= 3g/
W | Tu= 1 - ) Tw= n/Cn+2)
Ti=ov-1 = 6 D= ey =1
T.= (Y- -3 T = 2)C2+42) = Y2
R= @y-1 = 7¢ R = 3)Gi+2) =3k
Te=(ef-1 =63 v/ = 4uchany = 23 /

2. Find the first four terms of the following sequences, given the sth term (7)) in each case.

() T,=4n —2 (iv) T,= (n+ 3)n + 1) (vii) T, =27
(i) 7, = (n + 1) V) T,=n>—1 (viii) 7, = (—3)"
(iii) 7, = n> — 2n (vi) T, = Ti_i (ix) 7T, = n.2"
@ o) Ta= 20 @id Ta = (-3)°
T=2 =2 = (- =-3
T= 2 =>¢ = (-3 = 1
h= 2 =3 = (-3) = 2%
Te= 2' = | Ty = ~3)f =91
| Tw=n.2"
T, = O 52\ = 2
T = (7_)2:L =93
= (3) 2° = 2%

Te= (4> = Ly /
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Arithmetic Sequence

T, . T \n 'Ty

7 4,6,

! Tt
n el ... n

. 1

‘]'I =1

Covnon dhffenence = 41

S o s
Voww

A\

Tpe 7 7+ 14()

Tqq 27 2+ 8(2)

T, =7 Tu 7 2+ (n) 2
Fothaula Twz at (n-1) d

N\

March 04, 2013

{ Example1 )
Find the nth term (77,) of the arithmetic sequence:
-2, 3, 8 13, .....
and hence find (i) Ty (i) 75 (ii1) T5y — Ty

oathid | G-z des
W= I T,,\;—’u(m—n)g
= -1+ Snu-g5
Tu= “F+Su
n=4° )| Top = =¥+ S(20) = 93
(| T, = -Fts)= 93

(i Tz - T/Lo =g
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Exercise 4.2
1. Find 7, .the nth term of the following arithmetic sequences.

Hence find 75, for each sequence.
(i) 8, 13, 18, 23, ... (ii) 16, 36, 56, 76, ... (iii) 10, 7 4, 1, ...

O a=8% d=5

Taza+(n-1)d

w2t | Ton = 24S(R) = )12

(i) | a=1b ol=20

Th = lL + (l’\-—{)lo
= (b + 20 —20

TV\" 20.,,/'4'
el T, = 20(22)—¢ = k3L

Exercise 4.2
1. Find 7,,, the nth term of the following arithmetic sequences.

Hence find 75, for each sequence.
(i) 8, 13, 18, 23, ... (ii) 16, 36, 56, 76, ... (i) 10, 7 4, 1, ...

i) o, 3,4 ,1

a=]o d= -3
Th=a+ (1-1)d Th= o+ (n=1)(-3) = (o -2n+3
T’\’ r& - }v\

n=1 T = 12-3(2) = -52 »
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3. Find the number of terms in each of the following arithmetic sequences:

() —5, —1,3, 7 ......75 (i) 2,5, 8, 11,......59 (iii) —%! —1. —%, O, ...... 14,
)
a:-—g d.:q’ Ty\f_?’g y\:.?
Ta= a+ (V\'\)d 2 K= -‘g-}—(q—t)l}
n=1 =-S5 +¢n-y
K= -G+4,
B = 4n
2l =N
% -1;_| = ?’g
check: ], = -C+ ()¢ = 3§ /
3. Find the number of terms in each of the following arithmetic sequences:
(i) —5, —1,3, 7 ......75 (i) 2,5, 8, 11,......59 (iii) —g, —1, =1, 0,...... 14,
a
n=" a= 2 d= , Tw=619 ] n=7?
Ta= a + (n)d 59=2+(n-1)3
-z 5F=(h-1D3
CHpamd £§F = 3n—-3
+3 tE6 = 3u
3 20 = h
> _r_;_a = 59 /
check: sz = 21+ (’7)2 = 57 J/
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3. Find the number of terms in each of the following arithmetic sequences:

March 04, 2013

G) 5 1,3, 7......75 (i) 2.5 8 11,...... 59 Gii) —2 1. L 0. 14.
0
n=" 3 L
a=-3 ,d=3 , Ty=# , n=?
Teeat(-)d |5 = =2 & (ua)Yd)
Xz 29 = -2 + (Vl-fl)l
+3 2l = h—|
+ | 32 = I
> T, =4 /

Ty, = -3, + (54)(15.) =4 /

check:
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